il

g
=
s
i

1. ¥¥4
B4 TN 6 AEEER IR PN RS Bl M X B
JBA T F R, SR, ZEl

2. EBEAR
1) FHI4 B ERE FEET  FHERR
175 HFE H &f1 64 8H10H

2) JE1THIR
£ o TH 1H3LH

3) wHwyI
ARSI, RUSTENRIHICITAR D B2 BT L T L CRBERMRET) b

DTHD,

4) FEHBNA
B, RS L OBERIEROEY

E+sZi@E SN



PR NER =

ull
P

EHAL | DTN 6 IR N R X RS Eg =
H H FHE S
THH - THE - FER A7 ¥ o& 4 % OB N AR
FEE S = 1 301, 000
FEME R =X 1 301, 000
4RI R =X 1 301,000 | 4 HRFEVESHIE
10 =y
ARAEERE 7 U, (REEE E 20
HE R & =X 1 1,613,796
B HiH & =X 1 1,613,796
EiLHiH = 1 1,613,796 | BHAIE (fEXZE)
1 ES0:
T A
(0.068)1  (km2) =
e & = 1 1,964, 180
BRI X 1 1,964, 180
AR = 1 1,964, 180 | {E¥EHHE
1 kW
kAT
0. 432 km
R
0. 432 km
THEIT I
0. 432 km
FRITII
0. 432 km
JH AT R 1 I
0.5 km
JiE F 1 238, 950

-1- E+sZi@E SN



i
I
T
Tl
P=ai
I

¥4 | D06 RIGE N R B e BB
H H L3l
THH - T - fER] A7 ¥ & 4 % OB AN R
i = 1 238, 950
e 2y 1 238,950 | ¥FTAE
1 X
[R5 S E2V 1 104, 400
[EReES 2y 1 104, 400
TR 52V 1 20,400 | fkE (REE - B@AME)
1 oM
%%Eﬁ%ﬁ:ﬁzﬁk% ﬂ 1 84, 000 %%Eﬁ%&ﬁzﬁk%
1 M
Heftr e PR = 1 29, 000
Heffrig 2R = 1 29, 000
R RS X 1 29,000 | FRRMREE
1 M
EEH R = 1 4,251, 326
R e = 1 3, 058, 674
iS4 = 1 3, 058, 674
T B SE R = 1 7, 310, 000

-2 - E+sZi@E SN



